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1 omT |O Unu 1|

1 MoauTt = 1024 KbauT
1 F'eaut = 1024 M6oauT



[IPUMEP 1:TekcT
NWHOOPMATUKA

11 cumBOnoOB

|

8 outoB




[IPUMEP 2:TeKcT

Y4yeOHUK — 176 ctpaHumu
Ctpanuua — 40 cTpok
cTpoka — 60 cumBoOnoB.

= 38379 200 ounToB

oaHa

cTpoka 4.122 400 coaunToB
: 1024




[MPUMEP 3:rpaduka

N3o06paxeHune coctout n3 600 [ 800 nukcenen
KakoB ero uHpopmaumMoHHbIU OO BLEM?

1 nukcenb — 24 outa — 3 bauTa

600 - 800 - 3 =1 440 000 6auT

: 1024

ANG 7K KA




O0bLEeM KOMMbIOTEPHbIX
MH(POPMALIMOHHbLIX HOCUTENEN

Xectkmm guck — 40 - 120 Noaur




